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X (71F A™) 216¥ 7|29 BEX, H|Z, 206 CHH =S4 52 &4

O ¥d g tiH derisdd 37t 7199 uI-LXiIxFE dx

I

7|t oEMA = 242 3.1%, 6.3% 24

O (MY m3HXhH 701,015H = 656,544FH, 44,471H(6.3%) ZL
- (=2 HIE 37 13.6% = 13.8%, 0.2%p 37t

- (=9l ZA) 605,644H = 565,861H, 39,783H A, 6.6% LA
- (2 ZA) 95371H = 90,683F, 4,688 LA, 49% LA

O (d4Y) gdo| A7 ax|g A2 o/dol © 3
- (B®E) E 90.2%, 0’4 9.8%

- (=9 HE) 24 13.9%, M 12.9%

O (¢d8) 2 HHNM ZA30CH, 70t 0|4, 40fH A #H)
L) 50CH(35.5%)>60CH(23.9%)>40LCH(20.5%)
Q| =9l H|E) 30CH(26.4%)>20CH O|5}(20.3%)>40CH(14.7%)

=
Ly

- (
- (

O &2 671 X5E) 2= XHS0AM ZaEid, =X, HA Za AH)
6)>HE 2 Z(16.2%)> HI 22 (10.3%)

- (252) % H((585%)>HE 6.

- (=2 HIT) E2E(33.9%)>EEF5(30.4%)>HIEE(12.0%)

O XI199d) HFE Helst 2E X[HoAM ZaFY, 24 T2 #H)
- (BXE) A7((20.9%)> A 2(16.9%) > 2 AH6.4%) > 91 M (6.1%)
- (=9 HIE) M2(27.1%)> 83 7((19.0%)>MZ(16.1%)> 21X (11.6%)
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2. EIZSH IS S

(HHl) 701,0158 = 656,544, 44,471H(6.3%) Z2

- (@=Q HIE 571 13.6% = 13.8%, 0.2%p S7}

- (LH=Ql ZE2) 605,644 = 565,861, 39,783H ZA, 6.6% L
(2=l ZA) 95371 = 90,683, 4,688%H ZA, 49% LA

T <HE 90 F2 6/ HTE LSHA & HE2 7IEF HF0| HMel=of XHo|7 R

O 82 .=elE nIHxt SH(206& CHH 21.68

mjo

1
$0
ojo

(Y Hu) Y o5 4L ALAES 040 2
(49 23x) YX} 90.2%, 4 9.8%
(=2 H|E) Hd 13.9%, 44 12.9%

- (&%h 631,681(90.1%) = 592,060 (90.2%), 39,621(6.3%) H=Z, 0.1%p 57t

- (2=Ql H[FE B7h 13.7% = 13.9% 0.2%p 37t
- (LH=Ql Z+4) 545,088 = 509,670F, 35418%H ZA, 65% AL
(= ZA) 86,593H = 82,390%, 4,203F ZA, 49% U

- (01X} 69,334H(9.9%) = 64,484%H(9.8%), 4,850%(7.0%) Z2, 0.1%p A4

(=2l H[FE B7h 127% = 12.9%, 0.2%p S7t
- (Lh=2l Z+A) 60,556 = 56,1918, 4,365%H ZA, 7.2% LA
- (=0 ZA) 8,778 = 8,293, 485FH ZtA 55% A

<3d% 2> d4E L} 2=l mIHX FZ s (20.6 CHH| '21.6 HZ}

0.0
-39,783 -4,688 -35,418 -4,203 -4,365 -485
-5,000 - -1.0
-10,000 L 50
15000 M ST cfu] 52 A%
20,000 -a-7d 7| 0fH 3% 348 [ 30
' - 40
-25,000
- -5.0
-30,000
-35,000 - 60
-40,000 - -7.0
-45,000 , . -7.2 L 50
) Lp=ol Azl | y=el azel | y=el A=l | (%)
HA | A | o4

FOEHA4E 2340 502 oY £3 43E 4 A8
A& SAHY, ALZRAIBH




<E 5> 48 U oxQd u3HX 57 #2(20.6 CiH| '21.6 HSh

o 2020.6 2021.6 HE SI| Yl B2
- I () PAHUHI(%) Ol 9I 2 () A HI(%) QIR (H) | ZLE(%)
A 701,015/  100.0| 100.0| 656,544| 100.0| 100.0| —44,471 -6.3
&A | L=l 605,644 86.4 86.4| 565,861 86.2 86.2 -39,783 -6.6
=0l 95,371 13.6 13.6| 90,683 13.8 13.8 —-4,688 -4.9
A 631,681 90.1| 100.0| 592,060 90.2| 100.0] -39,621 -6.3
=X | =0l 545,088 77.8 86.3| 509,670 77.6 86.1 -35,418 -6.5
920l | 86,593 12.4 13.7] 82,390 12.5 13.9 -4,203 -4.9
A 69,334 9.9 100.0| 64,484 9.8 100.0 -4,850 -7.0
CiXt | =0l | 60,556 8.6 87.3] 56,191 8.6 87.1 -4,365 -7.2
=0l 8,778 1.3 12.7 8,293 1.3 12.9 -485 -55
F: OIAASE ASHD SO Q) x5 +HE + AUS
X2 AYZEXEH S DB
O H™E .3 mZHX 22068 | 21.68 3
- (HEE Hlw) 2= AN ZA30CH, 70CH 04, 40Cf ZHA H)

(A 21) 5004(35.5%)>60CH(23.9%)>40CH(20.5%)
(2=l H|Z) 30CH(26.4%)>20LC 0]5}(20.3%)>40CH(14.7%)

- (20CH Ol3}) 46,534H(6.6%) = 45,291H(6.9%), 1,243 (2.7%) &=, 0.3%p 37t

NCIEINTES
(W= Y

LA
(=2l A

S7h 20.1% = 20.3%, 0.2%p St
37,1869H = 36,1109, 1,076F &4, 29% HA
9,348 = 9,181F, 167F &4, 1.8% A2

- (30CH) 75,1428 (10.7%) = 68,1228 (10.4%), 7,020 (9.3%) &=, 03%p HLA

- (=2l HIF B7h 249% = 26.4%, 1.5%p B7t
- (L= ZA) 56,420 = 50,1229, 6,298 ZA, 11.2% ZA
(= ZA) 18,722H = 18,000, 722H ZtA 39% UL

- (40CH) 144,105 (20.6%) = 134,794H(20.5%), 9,311 (6.5%) &AL, 0.1%p HA

(2= HF B7h 14.0% = 14.7%, 0.7%p S7t
(=9 ZA) 123,916H = 115,019Y, 8,897H ZtA, 7.2% LA
(QFQl ZEA) 20,189E = 19,775F, 414H ZA, 21% A

- (50CH) 247,906'8(35.4%) = 233,208(35.5%), 14,6988 (5.9%) &#Z, 0.1%p 57t

- (2=l HE ZA) 12.8% = 12.6%, 02%p &2
(L=l ZA) 216,127H = 203,744, 12,383H A, 57% A
S (Q=Ql ZEA) 31,7798 = 29464%, 2,315% ZA, 73% LA




- (60CH) 167,556 (23.9%) = 157,185%H(23.9%), 10,371H(6.2%) &2, T+4H| &
(2=l HE &) 88% = 8.7%, 0.1%p LA
- (LH=Ql ZEA) 152,829% = 1434449, 93858 ZA, 6.1% 4
(2= AA) 147278 = 137419, 986 LA, 6.7% AL
- (70CH O|&Y) 19,772B(2.8%) = 17,944H(2.7%), 1,828H(9.2%) Z=, 0.1%p ZA
(=0l HE &) 31% = 2.9%, 02%p &2
(L2 Z2) 19,166 = 17,4228, 1,744Y U2, 91% U2
(=02 ZA) 606 = 522, 84 ZA, 13.9% LA
<d% 3> oY U ool u|SHX S& ¥2(20.6 CHH| '21.6 H2h
0.0
-2,000 r-2.0
-4,000 a0
-8,000 L oo
12,000 M 57| iy 52 ol | a0
——nd 57| i 52 SLE 139
7;g) LHZQl o129l | LR 2=Q | R 2l=Q | LR =9l | L=l FQl | L=l 2=l (%'
20CHO| B} ‘ 3o0CH ‘ aoCH ‘ soCh ‘ 60CH ‘ 70CH O] &
= OBHASE AFMD SO2 ol XF +HE 4 S

o
Az SAE, HEZEASHE




<E 7> CiYE L =¥ m|SHX} & =2(20.6 CHH| '21.6 #H2})

Sy 2020.6 2021.6 &4 SI| iy 52
= olgia(=)]  AAHI(%) [URXF)]  2AHI(%)  [ofX(F)E2E(%)
H 701,015 100.0 100.0| 656,544 100.0 100.0| —-44,471 -6.3
& =39l 605,644 86.4 86.4| 565,861 86.2 86.2| —39,783 -6.6
2|=09l 95,371 13.6 13.6 90,683 13.8 13.8 -4,688 -4.9
o0tH Hl 46,534 6.6 100.0 45,291 6.9 100.0| -1,243 -2.7
0l =0l 37,186 5.3 79.9 36,110 5.5 79.7 -1,076 -2.9
2=l 9,348 1.3 20.1 9,181 1.4 20.3 -167 -1.8
H 75,142 10.7 100.0 68,122 10.4 100.0f -7,020 -9.3
3004 =0l 56,420 8.0 751 50,122 7.6 73.6 -6,298 -11.2
2|=09l 18,722 2.7 24.9 18,000 2.7 26.4 -722 -3.9
Al 144,105 20.6 100.0| 134,794 20.5 100.0f -9,311 -6.5
4004 =39l 123,916 17.7 86.0/ 115,019 17.5 85.3 -8,897 -7.2
/=0l 20,189 2.9 14.0 19,775 3.0 14.7 -414 -2.1
Hl 247,906 35.4 100.0| 233,208 35.5 100.0| -14,698 -5.9
5004 =9l 216,127 30.8 87.2| 203,744 31.0 87.4| -12,383 -5.7
/=0l 31,779 4.5 12.8 29,464 4.5 12.6 -2,315 -7.3
Al 167,556 23.9 100.0| 157,185 23.9 100.0| -10,371 -6.2
60CH =0l 152,829 21.8 91.2| 143,444 21.8 91.3 -9,385 -6.1
2|=09l 14,727 2.1 8.8 13,741 2.1 8.7 -986 -6.7
7004 H 19,772 2.8 100.0 17,944 2.7 100.0| -1,828 -9.2
Ol AF t=eol 19,166 2.7 96.9 17,422 2.7 97 .1 -1,744 -9.1
2/=0l 606 0.1 3.1 522 0.1 2.9 -84 -13.9

Z: O3FASE 2FHD S0= ) £3 +HE 5 US

Az AMZZ2XEXN 3 DB

O F82 67| 2F9| Lj-2=2H n|3HXt 52Z(20.68 CHH| 21.68 H3}h

- (M) 468514 = 44853732, 19977H(4.3%) &2 Li-2l=Q = LA H|E =H

- (LH=Ql ZA) 393,239 = 376,197, 17,042F Z A, 43% HA
- @=e 7=..+.) 75275 = 72,3409, 2,935%F A, 3.9% &AL
. (R1ZY H|@) BE ES0|A ZAHIR, =X, HAH ZA FH)

| 2(58.5%)>4H 5 =35(16.2%)>H 25(10.3%)

SEE %E) E =
HI23(33.9%)>EHEZSH(30.4%)>H 23 (12.0%)

(2l=¢l HS)

- (HEQIE) 260,015H(57.4%) = 262,571H(585%), 6444B(2.4%) L2, 1.1%p 37t

(QI%&I HE Z4) 11.4% = 10.7%, 0.7%p &2
(Lh=0Q1 ZtA) 238,302 = 234,390%, 3,912Q ZA, 1.6%
( Q=0 ZtA) 30,713Y = 28,181Q, 2,532 ZtA 82% Zt

a

P> oy

2) 2021.6 ¥ A 2T FOAM =2 670 2B0| XX[St= HEL 68.3%Y




) 30.8% = 30.4%, 0.4%p &4
1,0258 = 50,6668, 359 &2, 0.7% &
2,694% = 22,101F, 593 _+_, 26% H:

&

g
¢
(o

H(9.2%) = 42,844'8(9.6%), 249'E(0.6%)

% 270 329% = 33.9%, 1.0%p =7t
) 289119 = 28337F, 5748 ZA, 2.0%
by 14,1828 = 145079, 325% =

2, 04%p 57t

[ |
N
=7

(B{2t3) 55,6578 (11.9%) = 46,266B(10.3%), 9,391H(16.9%) &L, 1.6%p HL

(=2l H[E B7hH 102% = 12.0%, 1.8%p &7t
- (L9l Za) 49,953 = 40,7039, 9,250 185% HA
- (2= Q #H2) 5704F = 55639, 1415'5I U, 25% LA

s,

- S) 16,057/°5(3.4%) = 14,368/'5(3.27%), 1,6/05(10.4%) g, 0.2p7% o=
HIAIZ) 16,057H(3.4%) = 14,387H(3.2%), 1,670 (10.4%) L L, 0.2p% T2
- (2= HE 37h 64% = 8.0%, 1.6%p &7t
- (L= ZA) 15030 = 13,242H, 1,788%H ZA, 11.9% A

. (2=

S7b 1,0278 = 1,145%, 1184

=71, 11.5% 7}

(Z=H3I) 10,9738 (2.3%) = 9,702F(2.2%), 1,271

(11.6%)

ZA, 01%p LA

(2=¢l H= &%) 87% = 87%
(L=l Zt4A) 10,018 = 8,859, 1,159H ZA 11.6% A
(2=l ZtA) 955 = 843, 112& ZA, 11.7% LA
<33 5> F XZY -0l u|ZHXI 5Z #E(20.6 CHH| '21.6 HS})
2,000 r 15.0%
325 118 L 10.0%
3,912 2,532 -359 -593 -574 23% 9,250 -141 -1,788 -1,159 -112 L 5.0%
2,000
0.0%
4,000 F -5.0%

r -10.0%

\_

-11.9% -11 6% -11 7%| |- -
A £7| ofu] 52 ol [219%] [rren] [217] | ason
8,000 - S| 0| 52 SUE - 200%
-—18.5%

10,%‘00 - - - = -25.0%
S y=za o=zl \ 20 gl=el \ 2ol el=ol \ 2ol ool \ el el=ol \ =el  g=ol | %)
BEOIR ‘ EEEE ‘ "oz ‘ TR ‘ B2 ‘ ES=F:}
= . 71 A —_1 | = xS A AL o
F . O3MAeE Al SR QY =2 H-HE = US

AR SAE, dEZ2EXSHE




<E 9> F8 XFE .2=x0ld n3HXt 54 =€ (20.6 CHH| '21.6 HSh
_ 2020.6 2021.6 AE =0 Oy =2
T NEPNE) 2AHI(%) olia(m)  PAH|(%) Ol (H) | S 2 E(%)
2 468,514| 100.0]  100.0| 448,537] 100.0] 100.0] -19,977 -4.3
&AH =eol 393,239 83.9 83.9| 376,197 83.9 83.9] —-17,042 -4.3
/=0l 75,275 16.1 16.1| 72,340 16.1 16.1 -2,935 -3.9
2 269,015  57.4|  100.0| 262,571 58.5| 100.0| -6,444 2.4
g8 y=39 238,302 50.9 88.6| 234,390 52.3 89.3 -3,912 -1.6
el=el | 30,713 6.6 11.4] 28,181 6.3 10.7] -2,532 -8.2
2 73,719 15.7]  100.0] 72,767 16.2] 100.0] -952 -1.3
gs=2| Y20l | 51,025 10.9 69.2| 50,666 11.3]  69.6] -359 -0.7
2/=0l 22,694 4.8 30.8| 22,101 4.9 30.4 -593 -2.6
2 43,093 9.2]  100.0| 42,844 9.6] 100.0] -249 -0.6
323 =0l 28,911 6.2 67.1| 28,337 6.3 66.1 =574 -2.0
=0l 14,182 3.0 32.9| 14,507 3.2 33.9 325 2.3
2 55,657  11.9] 100.0| 46,266/ 10.3] 100.0] -9,391| -16.9
2= =0l 49,953 10.7 89.8| 40,703 9.1 88.0 -9,250 -18.5
el=ol 5,704 1.2 10.2| 5,563 1.2 12.00  -141 -2.5
2 16,057 3.4 100.0] 14,387 32| 100.0 -1,670] -10.4
A= =39l 15,030 3.2 93.6| 13,242 3.0 92.0 -1,788 -11.9
2/=0l 1,027 0.2 6.4 1,145 0.3 8.0 118 11.5
2 10,973 23] 100.0] 9,702 22 1000 -1,271] -11.6
g =0l 10,018 2.1 91.3 8,859 2.0 91.3 -1,159 -11.6
2/=0l 955 0.2 8.7 843 0.2 8.7 -112 -11.7

F 1) LSHAsE 2240 S22 QA F2 =HE = US
2) 20216 AX HA AE =
AE . HEZEXSHNZ| DB

O XYY W.9ZE TIHX S2U(20.68 CHH| 2168 H3h

(R|9Y 23L) A7((20.9%)> A =(16.9%)>F2H6.4%) > C1 7 (6.1%)
(=2l H|E) M2(17.1%)>d7((19.0%)> M Z(16.1%)> 2 (11.6%)

- (KIYE HR) HFE Mt BE XNFoM H2TEH, S H2 H)

- (M) 121,815F8(17.4%) = 111,113H(16.9%), 10,702E(8.8%) &H2, 0.5%p HA

- (/=2 HE 571 26.8% = 27.1%, 0.3%p 57t
- (Lh=0Q1 ZtA) 89,172F = 80,9499, 8,223H ZtA, 9.2% LA
(=0l ZhA) 32,6438 = 30,164, 2,479% LA, 76% A

- (21H) 43,603H(6.2%) = 39,815%(6.1%), 3,788 (8.7%) Z2, 0.1%p

- (2]=Q HE 28) 11.6% = 11.6%
- (Lf=9Ql ZtA) 38,5458 = 35190%, 3,355%H ZtA, 8.7% LA
(@)=l Z+A) 5,058% = 4,625%, 433 ZA, 86% LA




(A71) 153,7378(21.9%) = 136,942H(20.9%), 16,795FH(10.9%) &L, 1.0%p HA

NCER
SOEL]
(@2l

HIE 575 184% = 19.0%, 0.6%p S7t
&) 125,523F = 110,9139F, 14,610
“a) 282148 = 26,0299, 2,185F

ZEA

a2, 11.6% Ha

L4, 77% UA

(CH) 28,257H(4.0%) = 27,483H(4.2%), 7748 (2.7%) &=, 0.2%p 57t

S (@l=el
- (=l
(Ql=el

HIS 37 2.6% = 3.4%, 0.8%p 57t
) 27,5178 = 26,542H, 975H Zt, 35% LA
S7h 7408 = 9419, 201 37t 27.2% 37}

(B5F) 24,374F(3.5%) = 22,6008 (3.4%), 1,774B(73%)H L, 0.1%p HL

- (@=9
- (=2
NCER

HS 371 2.3% = 2.6%, 0.3%p =7t
ZA) 23,8208 = 22,0079, 1,8138 &4, 76% &
57t 55498 = 5939, 398 =7} 7.0% Bt

(F4h 43,572H(6.2%) = 41,703H(6.4%), 1,869E(4.3%) &H2A, 0.2%p 7t

(2=l HE &) 28% = 2.2%, 0.6%p &
S (Lh=Ql ZEA) 42,3628 = 40,767Y, 1,595%H ZtA, 3.8% A
S (Q=0l ZEA) 1,210F = 9369, 274H ZA, 22.6% ZA

- (@Y 28597H(4.1%) = 26,861F(4.1%), 1,736H(6.1%) A=, H[F 2H

(=0 HE 29) 3.1% = 3.1%
S (Li=el ) 27,7148 = 26,018F, 1,696QE &

, 6.1% 22
(Ol ZA) 8838 = 843, 40 Z2, 45% LA

1%

za

- (240 12,728(1.8%) = 10,953B(1.7%), 1,775(13.9%) &2, 0.1%p

- (2= HE 57D 6.1% = 7.6%, 1.5%p &7t
(=R ZEA) 11,956 = 10,1259, 1,8318 ZA, 15.3%
- (QZQ B7H 7728 = 828%H, 56 =7t 7.3% 7}

2t

- (EF) 18,181 (2.6%) = 17,435H(2.7%), 746 (4.1%)&H 2, 0.1%p 7t

(=2l HE 37h 33% = 3.6%, 0.3%p &7t
C(Lf=0l Z+A) 17,5858 = 16,807%, 778H LA, 44% LA
- (Q=Q 571 5968 = 628, 32%H =7t 54% 57}

H|
¢
(o
=
[S)

za

(F'Eh 25926 (3.7%) = 20,915H(3.2%), 5011E(19.3%) &L, 0.5%p

(=Rl HE L) 22% = 2.1%, 0.1%p &4
(W=l Za) 25353 = 20,4699, 4,884F ZtA, 193% LA
(2= Ol ZA) 573H = 446F, 127YH U, 222% HA




(HE) 17,9718(2.6%) = 17,5958 (2.7%), 376" (2.1%) LA, 0.1%p S7t

- (2= HE B7H 1.7% = 2.0%, 03%p =7t
- (L= ZA) 17,667 = 17,251H, 416H 2, 24% A
- (2129 B7h 304 = 3449, 4098 F7}, 13.2% St

(CHH) 19,357%H(2.8%) = 17,709H(2.7%), 1,648H(8.5%) LA, 0.1%p LA

(=2l H[E &) 28% = 2.6%, 0.2%p LA
C(Lh=02l Z+A) 18,8158 = 17,2409, 1,575% ZA, 84% A
(=0l ZA) 542 = 4699, 73FH ZA, 135% LA

(MIZ) 2,536H(0.4%) = 2,247H(0.3%), 289H(11.4%) Z4, 0.1%p L2

(=2l HE 37h 151% = 16.1%, 1.0%p =7t
- (LH=Q ZA) 2,153 = 1,885, 268 A, 124% AL
(=0l ZA) 383 = 3629, 219 LA 55% LA

- (B4 26,093H(3.7%) = 23,335H(3.6%), 2,758H(10.6%) Z2, 0.1%p L2

- (2= HE 371 5.7% = 6.9%, 1.2%p =7t
- (LH=Q ZA) 24,599 = 21,7219, 2,878 ZA, 11.7% &2
- (252 B7h 1,494% = 1,6149, 1208 S7I, 8.0% &7}

- (B5) 16,0268(2.3%) = 14,690 (2.2%), 1,336B(8.3%) HZ, 0.1%p HA

- (/=9 HlE ) 53% = 5.3%
- (L= ZA) 151698 = 13,9179H, 12528 24 83% 44
- (2=l ZtA) 857H = 773Q, 84Q ZtA, 98% LA

- (Z3) 19,567E(2.8%) = 18,999F(2.9%), 568B(2.9%) &#=, 0.1%p 57t

- (2=l HE 375 26% = 2.7%, 0.1%p =7t
- (L= ZEA) 19,063 = 18,4909, 573H ZA, 3.0% A
(=9 571 504H = 5099, 5% 71, 1.0% S7}

- (MIF) 4,6948(0.7%) = 4,7928(0.7%), 98B (2.1%) S7I, H|Z &4

(=0l HE &) 2.8% = 1.9%, 0.9%p &2
- (LH=Ql 37} 45618 = 4,7039, 14298 37, 3.1% 37t
(= ZA) 133F = 899, 44 ZtA 331% U
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8,2232,4793,355-433-14,61€2,185 -9, -1,8:

13 -1,595-274-1,696 -40 -1,831
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-4,884-127 -416 -1,575 -73 -268 -2
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1-2,878

-1,252 -84 -573

-44

6000 -
oo m x
e L] %7 o7 3% £ 3y B ¥z Hy He o HE L 58 ze HF
T L3HXpE 234D SO o) T2 £HE = US
e SAE, HEZEXSHZ
<E 11> X994 L 2= n|3HXt S dE(20.6CHH| '21.6 =}
. 2020.6 2021.6 =) OiHl =2
= ol214 () AHI(%) 0l2l4(H) FAHI(%) ol () | BAE(%)
A 701,015 100.0 100.0| 656,544 100.0 100.0| -44,471 -6.3
A | Y=ol 605,644 86.4 86.4| 565,861 86.2 86.2| -39,783 -6.6
Q=9I 95,371 13.6 13.6| 90,683 13.8 13.8| -4,688 -4.9
A 121,815 17.4 100.0] 111,113 16.9 100.0] -10,702 -8.8
Ag | u=el 89,172 12.7 73.2| 80,949 12.3 729 -8,223 -9.2
Q/=0l 32,643 4.7 26.8| 30,164 4.6 27.1|  -2,479 -7.6
A 43,603 6.2 100.0 39,815 6.1 100.0] -3,788 -8.7
oIF | Ly=ol 38,545 5.5 88.4| 35,190 5.4 88.4| -3,355 -8.7
Q=9I 5,058 0.7 11.6 4,625 0.7 11.6 -433 -8.6
A 153,737 21.9 100.0| 136,942 20.9 100.0 -16,795 -10.9
2 | u=el 125,523 17.9 81.6/ 110,913 16.9 81.0] -14,610 -11.6
Q=9I 28,214 4.0 18.4| 26,029 4.0 19.00 -2,185 -7.7
2 28,257 4.0 100.0| 27,483 4.2 100.0 -774 -2.7
2 | w=2el 27,517 3.9 97.4| 26,542 4.0 96.6 -975 -3.5
Q=9I 740 0.1 2.6 941 0.1 3.4 201 27.2
A 24,374 3.5 100.0 22,600 3.4 100.0 1,774 -7.3
z= | W=ol 23,820 3.4 97.7| 22,007 3.4 97.4| 1,813 -7.6
Q=9I 554 0.1 2.3 593 0.1 2.6 39 7.0
A 43,572 6.2 100.0] 41,703 6.4 100.0] -1,869 -4.3
I EL] 42,362 6.0 97.2| 40,767 6.2 97.8| -1,595 -3.8
Q=9I 1,210 0.2 2.8 936 0.1 2.2 -274 -22.6
A 28,597 4.1 100.0| 26,861 4.1 100.0] -1,736 -6.1
A | W=2el 27,714 4.0 96.9| 26,018 4.0 96.9] -1,696 -6.1
Q=9I 883 0.1 3.1 843 0.1 3.1 -40 -4.5
A 12,728 1.8 100.0 10,953 1.7 100.0] -1,775 -13.9
SN | W=2el 11,956 1.7 93.9 10,125 15 92.4|  -1,831 -15.3
Q=9 772 0.1 6.1 828 0.1 7.6 56 7.3
A 18,181 2.6 100.0] 17,435 2.7 100.0 -746 -4.1
2z | uy=g 17,585 2.5 96.7| 16,807 2.6 96.4 ~778 “4.4
Q=9I 596 0.1 3.3 628 0.1 3.6 32 5.4
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S 2020.6 2021.6 44 SJ| Uyl 52
B olga() | TuHI%) ol i4-(2) P HI(%) Olgia(g) | BLE(%)
o 25,926 3.7]  100.0[ 20915 3.2] 100.0[ -5011] -19.3
W=el 25,353 3.6 97.8 20,469 3.1 97.9 -4,884 -19.3
2/=9l 573 0.1 2.2 446 0.1 2.1 -127 -22.2
Al 17,971 2.6 100.0 17,595 2.7 100.0 -376 —2.1
W=el 17,667 2.5 98.3 17,251 2.6 98.0 -416 -2.4
el=el 304 0.0 1.7 344 0.1 2.0 40 13.2
Al 19,357 2.8 100.0 17,709 2.7 100.0 -1,648 -8.5
W=el 18,815 2.7 97.2 17,240 2.6 97.4 -1,575 -8.4
2|=9l 542 0.1 2.8 469 0.1 2.6 -73 -13.5
Al 2,536 0.4 100.0 2,247 0.3 100.0 —-289 -11.4
W=el 2,153 0.3 84.9 1,885 0.3 83.9 -268 -12.4
2=l 383 0.1 15.1 362 0.1 16.1 —21 -5.5
Al 26,093 3.7 100.0 23,335 3.6 100.0 -2,758 -10.6
W=el 24,599 3.5 94.3 21,721 3.3 93.1 -2,878 -11.7
2=l 1,494 0.2 5.7 1,614 0.2 6.9 120 8.0
Al 16,026 2.3 100.0 14,690 2.2 100.0 -1,336 -8.3
W=el 156,169 2.2 94.7 13,917 2.1 94.7 -1,252 -8.3
2= 857 0.1 5.3 773 0.1 5.3 -84 -9.8
Al 19,567 2.8 100.0 18,999 2.9 100.0 -568 -2.9
W=l 19,063 2.7 97.4 18,490 2.8 97.3 -573 -3.0
2=l 504 0.1 2.6 509 0.1 2.7 5 1.0
Al 4,694 0.7 100.0 4,792 0.7 100.0 98 2.1
W=el 4,561 0.7 97.2 4,703 0.7 98.1 142 3.1
el=el 133 0.0 2.8 89 0.0 1.9 -44 —-33.1
Al 93,981 13.4 100.0/ 101,357 15.4 100.0 7,376 7.8
F| Uu=¢e 74,070 10.6 78.8 80,867 12.3 79.8 6,797 9.2
2=l 19,911 2.8 21.2 20,490 3.1 20.2 579 2.9

T o1 = o
COIHAE Al S2R A F= 2YE + US.

: AEZ2ASH =l DB
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